LEBTAE

85.71%

2. 5340 THs

14.29%

E=I1A

()EE (BAREEXIBELRE.F)

H RTHY AR Ry o]

= LR TAE
w 2. 3555 THF

50.00%

6

(2)BUATERFY ( ZMWEE AN ) 3 25.00%
(4)FEER B 1 8.33%
(5)BlZE 1 8.33%
(7)EH M (FEREAR N —& ) 1 8.33%

A

G PN RR iR AR

=P

s ()3 (BEREMENEEDRE..
%)

= ()BUFHEIFT (EREEEA)

= (4)JREAIBES

= (5)AIE

w (7)ELAGEREAR T —RE )




£ 03
54 Jik

IHH EE
()EE (BRREEXIBELRE.F)

(UBURESFS (ZBEEA ) 1
R BB ANRRIE R b

50.00%
50.00%

» (D)ib3E (BRERERESEERE. .
%)
» (2)BURFEIFT (STREEEA)




5.RAEF BEmBEER 1 7.14%
6. BB (RS 13 92.86%

= SRR ARSI Ry fel

n SRAZ - R

1.A1BARA 1 7.14%
2A1E AU EZ2B A 1 7.14%
3.4 B L EE3EAA 1 7.14%
6.296ME AL L - BHEERMN &) 1 7.14%
7.E2EFCAEMIE 10 71.43%

=~ EEERIC T S AGREHE R LU T ?

» LEJLEA N

= 28918 H P2 2(E H A

< = 349208 AL E3(EH A

w6 LY6EHL L FEEER
)

» 7 HERIE A HR T




I
L

1 year

=S| E1E
11.A)¥1=#549,00175 £ 52,0007C

7.14%

1
12. 491 =1552,001 75 £55,0007T 1 7.14%
13.4%71 =%455,001702£60,0007T 1 7.14%
14. 4931 =%£60,001 75 £65,0007T 2 14.29%
15. 4% 1= %£65,0017C £70,0007C 2 14.29%
3. 4% =#25,0017T £28,00075 1 7.14%
5.4 =%231,00170 % 34,0007C 1 7.14%
7. 431 =#£37,00175 £40,00075 1 7.14%
8. 41T =%240,00170%43,0007T 2 14.29%
9. 431 =1£43,00175 £46,0007C 2 14.29%

V0 ~ SEERAE TAE-PaE AU A Rfa 2

»

u 114937 2%249,001 7T £ 52,0007T
w12 4931 2W452,001 77 2 55,0007T
= 13. 49 2455,0017T %60,0007T:
m 14 4 460,001 465,000
= 15. 49512 1565,001 77 2 70,0007
= 3.4 2 H#25,00177:%228,000 7T
» 5.4¥1 231,001 7742 34,000 7T
n 7.4J¥1 237,001 77 43 40,000 7T
m 8.4 = 1440,00171. % 43,0007T
w 9.4¥TEE43,00177: 246,000 7T




100.00%

o PR AT 2 AR AT S Ry ] 2

IEH EIE Bt
(10)E1Ef% 2 14.29%
(11)EME4 1 7.14%
(14)ZEm™h 1 7.14%
(6)FT 1T 1 7.14%
(8)EHmh 8 57.14%
(9) %54 1 7.14%

= (10)&{ LR
= (11)E MR
= (14)EFETH
= (6)HT 7T
= (8)Z= il
= (9)FE







IEH =] 5E BtE

55 1 7.14%
FEERFS 5 35.71%
=) 7 50.00%
i@ 1 7.14%
+ ~ EHBTFT B R T TAE T E KRR A
fa 2

= K&
w TS
. TR
= L
=S| EIE Bt
rED 21.43%
=E 11 78.57%
S\~ IBMEHEITAENS - et BT R ?
» RERE




=l 4 28.57%

M=) 10 71.43%

JU~ fE8 H AT T RHY R RS S S el ?

o
o

| |
%:&

1IEEFTE 5 35.71%
R EE= 6 42.86%
4ATE 2 14.29%
5.FEARE 1 7.14%

+ ~ WHAT TAENF R & ~ AT ~ S8R 2 3
SRERfE > HADRTREE Ryfa 2

" LIEHRFS
"2

e e
» SIEE RS




1.EZEMNHE - FBEER 13 32.50%
10. 5 thIAR (ARG EME ) 1 2.50%
pREAVACIE-YSEAT PN 5 12.50%
3 RANEEFRIE 2 5.00%
ARINEREE 3 7.50%
9.EEM IS E B ENIE 2 5.00%

HE i 14 35.00%
+— ~ EAEERHART DU R T BRI s | WA IRAE TAE R FT

Hyh?

= 1L EERA - FIRE(HIY

= 10 HAMFNGR (AR H AL
- Zﬂlﬁ%&%ﬁﬂikﬁlﬁ

= 3N EHIRIE

» AFHNEFREE

= QHEENTTE B R

I5H

1.8 8 57.14%

288 6 42.86%

+2 SR T IEEREES B EEEEE 0 18
HHEHIKEFEES ?

sl
n 285




1.1EE

62.50%

2.1 EEE S HANER

37.50%

I5H

=I5
(1). EAKE R RHEE

1.5

= 1LUHEE
= 2. 1B S A S5 I

100.00%

1.7

W

= (1). B R B E



(1).ExE: 2 66.67%
(2). 7 LER 1 33.33%

2 S A A

= (1).FHERHH
= (2) o AEE

7.14%
288 13 92.86%
=~ a2 B B R I S E s S E AR S Y E B ?

s 1.5
n 295




100.00%

EmE - BEAREM 14.29%
EmE - RIFEEIWEGEER T —B) 12 85.71%

am ChR Bt H RUsL IR BT A 2 407 > DAV Ry RS 52 B
IATEUE 2 25 R

= ERLE - HEDARRM

» ERLE - IR GEEEN T —
i)




MmThEERERRER
AREa ek
vl 1
opLLIFf B8
EP&RA
opLLIFf B8
ERBREMD
BRER
TEFBEML

o B3 Ff 28
FE

AERMEEEEER




	(S20240628-9)_(I)113年度護理系碩職班畢業

